001.

001.

002.

002.

003.

003.

004.

004.

The area of circle with radius 5 cm is

(A) 60 sq. cm (B) 75.5 5q. cm
(C) 78.55q. cm (D) 10.5 sq cm.
Ry,
5 Al Buosn HR1adl aord AASO voveeveees 8. Q& ’& y\‘,“
(A) 60 L. A (B) 75.5 A4 B
v
(C) 78.5 . Aal) (D) 10.5 L. Al

A steel wire when bent in the form of a square encloses an area of 121 cm?2. If the s

ame wire jg
bent in the form of a circle, then the circumference of the circle is

(A) 88 cm (B) 44 cm

(€)22 ecm (D) 11 em

A5 Rt @iz gud A RAZUHE UM A9 © _ud d 121 A2 Fag Axsn wadl 4 ) )
ALY WA s A zazuni anani 29 dl A adug uRa ......... adl.

(A) 88 2l (B) 44 Al

(C) 22 4l (D) 11 A

If ‘A’ and ‘B’ together can complete a work in 18 days, ‘A’ and ‘C’ together in 12 days, and ‘B’
and ‘C’ together in 9 days, then ‘B’ is alone can do the work in

(A) 18 (B) 24

days.

(C) 30 (D) 40

7 ‘A’ AL B’ A 51 0l 1ol 18 R yol 59 13, ‘A’ 4 «C 2dl welld 12 Rz yol 53 u3,

A B 244 C? 2l WA 9 [Bamni yal 59 913 ol B* Ased 2w s oo, [Betrimi yal 59 asil.

(A) 18 (B) 24
(C) 30 (D) 40

In a triangle PQR, if £ QPR = 80° and PQ = PR. then Z R and £ Q are

(A) 80°, 70° (B) 80°, 80°
(C) 70°, 80° (D) 50°, 50°
(siel PQR™E % £ QPR = 80° ¢y 243 PQ=PREIMdA LR £ Q... 0.
(A) 80°, 70° (B) 80°, 80°
(C) 70°, 80° (D) 50°, 50°

[ Contd.
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005.

In the given figure £ Tand £ B are right angles. If the length of AT, BC and AS are 15 ¢m, 16 ¢
n the given b A
and I7hcm respectively, then the length of TCis __ emns.

C

(A)18 (B)16
(C)19 (D)12
005. 20l 2ugAui £ T 241 £ B siz2vin 9. 2 AT, BC A4 AS L 4507 Ayp 15 4, 16 24 A
17 AL €y, dlL TC AL dou ... Al %4,
c
i N 15 ..~
\'a\<g ) )c \}‘ ,) M\ 7 -
- [ ? 2 J
15 . ¢ 16 y 20 . 2 )
g U S 1 73 2 7
A 17 S B
205
(A)18 4% (B) 16
©19 (D) 12
006. A man completes a certain journey by a car. If he covered 30% of the distance at the speed of 20
kmph, 60% of the distance at 40 kmph and the remaining of the distance at 10 kmph, his average
speed is kmph.
(A) 25 (B) 28
(C) 30 (D)33
006. A5 calb d-il ua 412 121yl 53 3, 74 A5 30 %24 942 20 (2.3 w4 sz A4, 607, 724
2 40 (230 uld seus- alqzl 243 sl vidz 10 Gy AL A 204 Gl LA 2202)
.......... uld ses 29,
(A)25 (B) 23 3e /) —upmld g
i
©3 ™3 G - ekklh e
007.  Theratioofd0emtolmis (s> ’L}i—"‘”l;‘l ~. ({‘ (
(A) 2:5 (B)3:5 \ M
(C) 4:5 (D) 5:2 J
007. 402017022 A oyl ... 5. /4/#
(B) 3:5 )] PN /
(A) 2:5 5 5 als
(©) 4:5 (D) 5:2
3 .T.0.
TOR-C]| [RT
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008.

008.

009.

009.

010.

010.

011.

011.

012.

012.

T SRS RNl

o father would be two and a half

ears, th 1d be the age of the father to his

Father is aged three times more than his son. After 8 ye
times of his son’s age. After further 8 years, how many times wo
son’s age?

1
(A) 2 times (B) 2—2— times

3 .
(©) 2:“ times (D) 3 times

yotefl GHR 53¢l 241 2l 9{/21. %

Rl Guz Aty Gz 520 32160 S. 8l uedl Rar-dl G3R2 52l a-il b
oflon 8 el b1 Rl Gz Ayl GuR s2di szl el 9l? M3 <\\(

] S <§ e
(A) 220 (B) 2 2wl N LN

2 \

RS
o R AN
3 N

(C) 27 2l (D) 3 25ll g"g\

Book : Cover : : Painting: _?

(A) Example (B) Wall
(C) Colour (D) Frame
Yes: vaRer s Qs 2

(A) Gelsy (B) [Baua

(©) 321 (D) 34

Which of the following words is different from others?

(A) Chicken (B) Snake

(C) Crocodile (D) Frog
QA1 W4 sul 2ot vl 493 9?2

(A) 4Rl I

(C) ¥R (D) 2351
4,7,12,19,28, 2

(A) 49 (B) 36

(€)30 (D) 39
4,7,12,19,28, _?

(A) 49 (B) 36

(©) 30 (D) 39

If FIRE is coded as DGPC. What would be the last letter of SHOT?
(A)Q (B) R

©s (D) P

%A ‘FIRE’ il 58 ‘DGPC’ €W, dl ‘SHOT» ) decil w12 3 97
(4)Q - (B) R

{ors (D) P

TOR - C
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WK, A

018, BCD TRV UGH,
(A) CMN (B) U5
(C)y V1) (D) 151
018, SCDTEF, UGH, WKL
(A) CMIN (125 191
(vl 13y 137
D14 Awan walks | kan to the East and then he turns 1o the South and walks S k. Agzain he turns 10
the Eastand walks 2 k. After this e returns to the North and walks 9 ke, Now how faris he
from his starling point?
(A)J3 kan (B)4 km
(C)5 km (D)7 kmi
014, sty mlbayd wzg § (5600 A5 A4 WL 3 2l mzz a5 w5t 512300 w5 gt 2 yd A2z 2R 5
A 2 (5600 1A 59, o WL A Gz, a2 4 5 o2 o (58 i 5, 03 4 A Grrusls [aghl 224 52 wa?
m;.}[étfl (1;,4[2*-4'1 —— & ¢ 5
(r:; 5 [4) (07054 /== 32z
085, A and ‘B are hrothers, “C? and *1)? are sisters. As son is D% brother. How is ‘B related to *C™7
(A) Father (B) Brother
(C) Uncle (D) Grand Father
OIS, A et B il 4, 0T gy AL, a2 i [l D L h B LB B O s 2l Hoi
M1 15 1
(A) "1 (B) 1%,
(C) 151 (D) %1% (¥
016, The magnetic susceptibility of a paramagnetic is = ('1;
(A) sy than zero (Bj Less than one but poitive (D
(C) Greater than one (D) Equal to zero
016, 54U 54l o205 usp [l .......... d1u 25,
(A) 24=44) #il2J| (B) Az4) 2125] o 3y
(C) A4 a3 (D) 71 2y
017. A 100 ohm, 1 watf resistor can sustain a maximurn current of
(A) 100 mA (By10A
(C)1A (D) none of the above
017 100 %4, 1 alz-il A9Z04 Uomy 224) uage 2204) 537
(A) 100 mA (B)10A
(C)1A (D) Guziz Gl 2z ug 40
018. ﬁ,:::;‘,:{;ﬁ‘::: band indicating percentaze tolerance in general purpose film or compaosisi,, o
(A) The percentage tolerance is <20%. (B) The percentage tolerance is =10%,
(C) The resistor is not properly coded. (D) None of the above
018, st Gl (s gy Do adinsd Woasa Ales o sofam Stz Frard 2 53
(A) ulA24 2472 220 5. (Byulzma Siaz-u 210% 5.
(C) a4 5% maymz 4] (D) D21z 8 iz ug <L
5 [PT.0
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019.

019.

020.

020.

021.

021.

022.

022.

023.

023.

The minority carrier concentration in a semiconductor is largely a function of

(A) the amount of doping (B) temperature

(C) forward biasing voltage (D) reverse biasing voltage
A sui SRS JRu A-u-dai ueeid sl (A4 87

(A) 2B unig (B) Aty

(C) 51Ra tyuy Qiedog (D) Raf suu dle2s

Most commonly employed trivalent impurities are

(A) Boron, Indium (B) Arsenic, Antimony

(C) Boron, Arsenic (D) Indium, Antimony
.......... Al a8 auaudl 2luad-2 1Bl O

(A) lRiA, SFeun (B) 25, Al2u-l

tey e, 2R (D) SRux, Alza-ll

Which of the following is preferred A/D converter used in a Digital Storage Oscilloscope
(A) Ramp type (B) Flash converter type
(C) Dual slope type (D) Parallel type

DA U4 54 A/D 542 Revea 2213 ilRUARSUA Gudlol 12 UE 52X 8?
(A) 3L USR (B) £A9 57422 UHR

(C) S U NSR (D) L3dd US1R

The common collector amplifier is an example of

(A) voltage-series feedback (B) voltage shunt feedback
(C) current series feedback (D) current-shunt feedback
A sdse2 Andlsiur A A Gersrel B2

(A De2-0 glses (B) dl@%-21-2 $13614

(C) s32-0Rx 136l (D) s32-212 513614

Where does the operating point of a class-B power amplifier lie

(A) at the middle of AC load line
(B) approximately at the collector cut-off on both the DC and AC load line

(C) at the midpoint of DC load line

(D) inside the collector cutoff region on AC load line
senz-B waz Andlsiurd AR WSz sui dlu 87

(A) AC clls -l e

(B) AC 247 DC 6i7 dls Q1S GuR 20913 5522 s2-1ls Wl
(©) DC als sl el

D) AC dls S GuR 58522 522l Rgruiz-ll 2ieR

TOR-C] 6 [ Contd.
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Which of the following condition is true o avoid race
4

; 1o . ;
i tpw = clock ON time ound condition in JK flip-flop ?
tpd(FF) = 1/ propagation delay
T = clock duration
(A) tpw < tpd(FF) <T (B) tpw > tpd(FF) =1
(C) Both (A) and (B) (D) None of the above
024, Dlunil 56 22 JK (eu-s A 203020630 (aad) mnz st wid wel 97
tpw= clock ON time
(pd(I'F) = f/f propagation delay
T = clock duration
(A) tpw < tpd(FF) <'T (B) tpw > tpd(FF)>T
(C) iR (A) 241 (B) (D) Gualsd WAL 215 uny )
025.  The fastest logic family is ...
(A) TTL (B) ECL
(C)DTL (D) Schottky TTL
025. Al ay »sdl dlows 3l ... 8.
(A) TTL (B) ECL
(C) DTL (D) 224 TTL
026. How many digits are required in binary notation to depict the decimal number 17?2
(A)3 (B) 4
€)s (D) 6
026.  e2isl 2Avan 17 A (@204 wenfdui salaan 3ean isl 32 ud?
(A)3 AB) 4
(©)5 D)6
027. In case of Enhancement n-channel MOSFETS
(A) VGS has positive polarity and VDS has negative polarity.
(B) VGS & VDS have positive polarity.
(C) Both VGS and {’DS have negative polarity.
(D) VGS has negative polarity and VDS has positive polarity.
027. A2 n-A4 MOSFET +1t (i
(A) VGS 448 ¥ VDS 101 6 . (B) VGS 211 VDS u- 6.
(C) 1A VGS 21 VDS 310, . (D) VGS 2821 © %1 VDS i 8.
028.  Fora two port network Y22 is given by
(A) Z11/AY (B) Z11/AZ
(C) Z22/AY (D) Z22/AZ
028.  AlWld A2ds w2 y22 apyy A,
(A) Z11/AY (B) Z11/AZ
(C) Z22/AY (D) Z22/AZ
—
TOR-C] - — 5 [ P.T.O.
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. . asiivement?
bridge can be used for inductance measurement?

029, Which of the following

(A) Maxwelly bridge (B) Schering bridge

(©) Wheatstone bridge (D) Wein bridge
029, §-8520 ayyqy a2 st (G-l Gualay aiy 87

(A) A5 ey (B) Ao [y

(C) [ [Groy (D) [ [Baey
030, Pirani guage iy useful for measurement of pressure ...

(A) between 107 (o 103 m of Hg (B) between 107! to 10° mm of Hg

(C) between 1071 (o 10-9 jum of Hg (D) between 107! to 10-'2 mm of Hg
030.  QRlay.. . . gou Huaw 12 Gualell 8.

(A) 10T 0 10 mm Hg a2 (B) 10~ ol 10-6 mm Hg 4231

(©) 10-' 1 10-° um Hg 221 (D) 10~ ¢ 10~ mm Hg 423
031. The Currentin the 4 Q resistance is

(A) 2 Amp (B) z Amp

7 8
(©) 3 Amp (D) ! Amp
7 9
031. 4 .Q (lgH)-L ARAUH] Ml YU .......... O,
A _

FAY, 4Q 1Q 8A

(A) 77 AxfluR (B) % Aaflyr

(© aflur (D) % Anflyz
TOR-C ] W 8
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032, In R-L-C circuits, the current at resonance js
(A) maximum in parallel resomanee and minimuyy i), Series resonance
(B) maximum in series resonance and minimun jy parallel resonance
(C) maximum in both series and parallel resonance
(D) minimum in both series and parallel resonance
032, ReL-C uRuani 2gre avid s
oA) nic2 gt et 2t Aell Mg qgy
(1) el 1grtteul HeTH A AHIAR Agrtteny] gy
(C) 607 Al 247 AUIdR AP UEHL Hény
(D) 6iA A8l 241 UHIAR AU AYTiY
033.  The condition for a passive two port network o be reciprocal is
(A)AD-BC=1 (B)AB-CD=1
(C)AC-BD=1 (D)BC-AD=1
033. ol AR5y WlZ d2as wruRs larll 2rq
AAX)AD-BC=1 (B)AB-CD =1
(C)AC-BD=1 (D)BC-AD=1
034. The relation between neper and dB is
(A) 1 neper=0.115dB (B) 1 dB =0.115 neper
(C) 1 neper=1dB (D) None of the above
034, U2 2 dB a2 2iein D,
(A) 11u2=0.115dB (B) 1dB = 0.115 qu2
(C) 1442 = 1dB (D) GuRlsd U4 2s ugy 4d]
035. In active filter circuits inductances are avoided mainly because they
(A) are always associated with some resistance
(B) are bulky and unsuitable for miniaturisation
(C) are non linear in nature
(D) saturate quickly
035, wll3za [Feaz uRuami §-s523 2nami 20d & Ad you 2009 3 A
(A) €A 46 23y Wil Aaden & (B) d G2 ¢l B 244 3en otruiael Y -ell
(C) B3y 2aeuamq @ (D) 2 g A U O
036.  Which of the following frequency bands is used for satellite communications?
(A) 4 khz - 8 khz (B)4 Ghz- 6 Ghz
(C) 4 Mhz - 8 Mhy, (D)4 Thz -8 Thz
036 AR 66 2ugRidl ug AdewsSa stauen v 87
(A) 4 khz - 8 khz (B)4 Ghz - 6 Ghz
(C) 4 Mhz - 8 Mhy, (D)4 Thz-8Thz
TOR-C| e [ P.T.0.
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037.  Theinput impedance of a short-circuited loss-less . line is

(A) Zero (B) Z,
© % (D) infinity

037. % WE-ule Quda Al §y2 S «.ccees 8.

PR (B) Z

© % (D) A-id

038. A condition for no distortion in a transmission line is ...
(A) LC=GR (B)LG=CR
(C)LR=GC (D) nonc of the above

038.  iulRen arSui sk 4 dlard 1rd 58 9 ?
(A) LC=GR (B) LG=CR
(C)LR=GC (D) Gulset A4 A5 uL 4l

039.  Power signal are the signals with
(A)0<E<eo,P=0 (B)0<E<oo,P=00
(C)0<P<oo,E=c M)0<P<oo, E=0

039.  uiaR [Rera A A Roa 6 3wl
(A)O<E<oo,P=0 (B)O<E<oo,P=o
(C)0<P<oo, E=00 MD)0<P<oo, E=0

040. Which of the following stage in a radio receiver provides the maximum image signal selectivity ?
(A) RF amplifier (B) IF amplifier
(C) Audio amplifier (D) Frequency mixer

040. DA U4 sl dewssl A3l RRaRwE Al atR $Ay Rodad i s el a6 ?
(A) RF ARl (B) IF Ancfls1uz
(C) >0 lul AnelsiuR (D) Bsa=il Rarz

041.  For a low level AM system, the amplifiers modulated stage must be ..,
(A) harmonic devices (B) class B amplifiers
(C) nonlinear devices (D) linear devices

041 legt 2tll AM MR HLYAUA 2op yedln Arells iz By dlay AS2?
(4) s1ail(Rs 22wl (B) 56U B A1) 51y
(C) Brrdvlla 2l ) 3vlu 23424

TN T ———
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The indireet way of generating M iy
(A) renctunce FET modulator (B) armstrong modulator

Y vivrne(or smodulator s g
(C) yarnetor diode (D) reactance bipolar transistor modulator

042, 1M L aiend A Gt s2arll Al L,
(A) Qo seva BT lsde? () sudegion 0 sadz
(€) A2 sulls syl (D) Aatsz-a oila 21z dlsyde?
043, Which of the following is source code
(A) LDPC (B) Shannon-Fano
(C) Hamming code (D) Convolutional code
043, Ao Q4 sl 058 7
(A LDre (B) A-Al-5)
(€) AL 518 (D) sr<lleyauq 518
044, Which of the following desirable features are possessed by SSB in comparison to AM
1. Less power is required
2. Bandwidth required is less
3. Antenna size can be reduced
4. Low frequency can be used
Seleet the correct answer using (he codes given helow
(A) 3 and 4 only (B) 2,3 and 4 only
(C) 1 .and 2 only (D) 1,2 and 4 only
044, AM -l vl SSB 56 §249-lu cuanallscizil y21d §?
1. 2461 war Ad¥
2. ol=scflgu x116] AS 2
3, vl=2Hug 4¢ il ad ul
4. 208 2uglr andl sy
(A) 85 3 2 4 (B) $5d 2,3 1 4
(C) $5d 1 21 2 (D) $5d 1,2 %14 4
045. An optical cable has refractive index of core as 1.55 and the refractive index of cladding as 1.5,
The numerical aperture for the cable is
(A) 0.390 (B) 0.050
(C) 0.152 (D) 0.223
045. s 225 Joiadl fadl aflmadtis 1.55 213 54800 ablmiadis 1.50 8. Joad 4As Ayagy
sedl gl ?
(A) 0.390 (B) 0.050
(C)0.152 (D) 0.223
TOR - C | 11 [ P.T.O.
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046.  Refractive index of materials is approximately equal to square root!
(A) electrical permittivity
(B) magnetic permeability
(C) electrical permittivity X magnetic permeability
(D) none of the above
046. sl aflotantis 3} aiard 1o aolyn 7
(A) SAsAsa ua A Q4
(B) #2115 yaaflaa il
(€)6a525¢ w20 AA X 29345 wzlABIEA
(D) BURlse U4l A gy wdl

047. cable consists of an inner copper core and a second conducting outer sheath.
(A) Twisted-pair (B) Coaxial
(C) Fiber-optic (D) Shielded twisted-pair
047. e, S14m] iR Suz 512 A3 ol Yaes iR us &l 8.
(A) [Razds 04 (B) SlABRIAA
(O 515012 ARz D) B3 Ras U2
048. The ruby laser differs from ruby maser in that the former
(A) does not require pumping. (B) needs no resonator.
(C) is an oscillator. (D) produces much lower power.
048.  3ell AR 360l Az s2di o€ ud B Bui 360l Az
(A) L =lol o3l ). (B) 1 3220 o3dlud el
(C) 25 2ilRudez 8, B) v 2L WA et 53 8.
049.  The RADAR in which both transmission and reception is done using the same antenna is called
(A) Monostatic radar (B) Monopole radar
(C) Bistatic radar (D) Dipole radar
049. % 5L guuMatt w1 R Asey -2-uell 5214 A4 9 s H7
(A) HI-12Rs 3R (B) Hi-luld 23R
(c/rbuqzé[és QIR (D) 314Ul 312
050.  The retrace time in field scanning as percentage of total time is
(A) 7% (B) 10%
(C)12% (D) 20%
050.  [(Zes 3ol A2 AHU A AHUAL J2ay 251 7
(A) 7% ~B) 10%
(0)12% (D) 20%
051. In TV transmission, the type of modulation used for video is
(A) DSB (B) SSB
(C) VSB (D) FM
051 TV gu-afariui [A3UL M2 s gz iy du quaty 87
(A)DSB (B) SSB
(C) VSB (D) FM
— L ———

. A
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W hich of the follow ing fype of presentation for RADAR system displays ¢lev

0&2. ' wtion nd arimuth
(A) PPl presentation . (B) A-scan representation -
(€) Bscan repre ‘f’“"i“"" o e (D) C-scan representation
PRI CRE D 08 2 Gl ma [2agy Bl (Azsia 37
(A) PP AZ-ZE tB) A-scan Us-2aim
(€C) Bescan da-zut (D) Cosean Wn2n4
033, W hich of the following are the memary pPerformance parameters
1. Access tume and Iatency
3. Block size and block accces fume
3, vele time and bandwidth
Select the correct answer from codes belaw
(A3 1 anl () 1 and 2 onl
(€12 and Yanl (Dy1,2andd
o5y, Alaen s sl el s s 157
iy A st 2wl
2, ol h e et sl SR UMY
TR PR R T CE
(A) £511 (B)S54 1 9 2
(C)ia 233 (D) 1,2 o4 3
084, A memory system of size 16 Kby tes is required to be designed using memaory chips which have
12 address lines and 4 data lines cach, What is the number of such chips required to desipgn the
mMemory system
(A)2 (4
HeR {16
082 16 Kbytes Al 3l uendl (ond- szan w12 90 and - ot 4 120 and el doed) fan-d Gudis
sxatll 5. st Wl uoudl (Lo szan vudl Ladl (e a7
(A)2 (1) 4
)8 (D) 16
(&%, I Internet Protocol Version 4 (1PV4) addresses, classful addressing is replaced by
(A) Classless addressing (1) Classful addressing new version
(€ Classless advertising (1) Classless advertising new version
0S8, 6222 WZSA R0 4 (1Y) 2 Al senag st SUEaA Sl s o 52
(A) e A2 (ay (B) ssuag e v yfan - 4d axa
(C) s fa wsazi 4y (1) s A sazinlEn - 4q a2
056, Which is not an abjective of network security?
(A) Authentication (1) ldentification
(C) Access control (D) Lock
056, A2as wewlA-l dq s 447
(A) wisllsey (B) Lo
(C) wie »igu (D) %20 5201
e - L ———
TOR - (| 13 [ P.T.0,

AT TR ———

Scanned with CamScanner




057, :z’hi;-}‘, of the folluwing is correct: L can modify 38
((;’)) (::A: "Nﬂhfy‘ A ‘?.”’ - ”’I’:‘;ll‘ can modify S5
55 can modify 37247, (D) 311
057, AAuay 84 w14 57 1 5% 4%
(A) IS, HIMY, 4 0zl 1255 (1) HTML, IS A W52 %2 f”;
(C) CSS, 1511, 3 mzdl 3% 7 (1) ML, €55 2 #E 2 ki )
05%. Which of the following snethod js used to register the client seript ‘J:‘"“””’”“” ! f:’ .
(A) Register Seripy ) (1) Page. ClientSeri ""’fgfww.mf”m
(Cy I‘agc.(,'li(;ntScriptmock.l{t:giucr‘:cript ) f'a.ge,(,'limSSc"ript,(Ju:n tScript
058, WAUTDL o vl s (a5 auifusdl 2 s 2 5Y :
(A) Register Seript (1) Pz’;fe.(,’lientScfiPLng—j“'e’éf: st
(c Page.(.’lientScriptmrmk.uw,iswtﬁcript Ny Page.(.ﬁlientﬁcfipl‘c”m tSeript
059.  What is the uge of Weh.config file?
(A) Configures the time that the serverside code behind module i called.
(B) To configure the web server.
(C)To store the global information 2nd variable definiticns for the application.
(D) To configure the weh browser.
059, Web.config 2174 Gy 9] 457
(A) Configures the time that the server-side code hehind module is called.
(B) To configure the web server.
LC) To store the global information and variable definitions for the application.
(D) To configure the web browser.
0610, By default ASP.NET Web Form class inherited from:
(A) System.Web.ULLPage (B) System.Web.Form
(C) System.Web.GGULPage (D) System.Web.ULForm
060.  ¥iA SA ASPNET a4 214 % 24i4) 422z w557
(A) System.Web.ULPage (B) System.Web.Form
(C) System. Weh.GULPage (D) System.Web.ULForm
061. data control does not exist in ASP.NET
(A) GridView (B) DatalList
(C) Repeater (D) tableView
061, srvereen 221 2214 ASPNET 4l 14} 4]
(A) GridView (B) DataList
{C) Repeater (D) tableView
062.  When an attempt is to make 2 machine or network resource unavailable to its, intended users.
the attack is called
(A) Denial of service attack (B) Slow read attack
(CySpoofed attack (D) Starvation attack
062, ’;.!u-:; Hﬁ-i{'t A4 A2AZ A4 Ay A auz1512404 fyuoy 4 23304 oy 53 (4, 4 g TE PP
ziay ! -
(A) Denial of service attack (B) Slow read attack
(C) Spoofed attack (D) Starvation attack
—— -
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cgment that misuses iy envivon
The code segmet

oo, NS culled g
(A) Stealer code ) Trojun hopge
(C) Code stacker (D) Noune of the nhove
oo Sledl A o d el gl g sy 6,
(A) Stealer code (B) Trofun hoyye
(C) Code stacker (D) None of (e nhoye
004. READY signal in 8085 is uscful when )¢ My Communientes witly
(A) slow peripheral device (1) fust periphera) deviee
(C) DMA controller chip (D) ey chip
064, 80854 READY [Ruotet el Guailoll 6) o v LA CPU Uy 43 69,
(A) 1l TR B (1) 25410 WG 264 (esS oy
(€) DMA 53l [ (D) reifay
065. What is the average uploading speed of 4G 1 nelworlk?
(A) 1-3 Ghps (B) 2-5 Ghpy
(C) 1-3 Mbps (D) 2-5 Mhpy
065. 4G LIE A2as-l a3 2udllio) sy hzell by 7
(A) 1-3 Ghps (B) 2-5 Ghpy
(C) 1-3 Mbyps (D) 2-5 Mbps
066. Hybrid ARQ is part of the layer,
(A) PbCP (B) RLLC
(C) MAC (D) rny
066.  wiS[Gis ARQ ... AUH o411 1),
(A) PDCP (B) RLC
(C) MAC D) rny
067.  Which of these is true about POLNET
1. Satellite based Wide area Network
2. Satellite based Local area Network
3. Has almost 100¢ VSAT and CPros
(A) 1 only (B) 2 only
(C) 3 only (D) Iand 3 only
067 POLNET - @2 Q9419 2 % B
1 A2 2Ry oSy ARuL A2q8
2. 2182 2Ry gy AR Azas
3. Q4 2U23 1000 VSAT 243 cpos 9
(A) $5d 1 (B) 5542
(C) $543 (D) $5c 1 914 3
—— —————
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068.  Which media format is not supported by Android OS
(A) AVI (B) MP4
(C) MIDI (D) MPEG
068. 53 Bl 1z 2-0i§3 0 A el 524 o017
(A)AVI (B) MP4
(C) MIDI (D) MPEG
069.  The latest version of Android OS (year 2021) is
(A) Android 10 (B) Android 11
(C) Android 12 (D) Android 13
069. A58 OS o vierdrt axf (2021 ) 54 B?
(A) A-8555 10 (B) A-63 11
(C) A=8s 12 (D) A=NE$ 13
070. Currently which is the most preferred programming language for Android OS development?
(A) Kotlin (B) Go
(C) Java (D) C
070.  S1AML 2SS OS JaauA-e w2 568 waAFHoL Jady Alell atud uzie sAU ©7?
(A) Kotlin (B) Go
(C) Java D) C
071.  PLA contains
(A) AND and OR arrays (B) NAND and OR arrays
(C) NOT and AND arrays (D) NOR and OR arrays
071, PLA i ..cccuuue. glu 97
(A) AND i OR arrays (B) NAND 11 OR arrays
(C) NOT i1l AND arrays (D) NOR i1 OR arrays
072.  Android is based on Linux for the following reason
(A) Security (B) Portability
(C) Networking (D) All of the above
072. A 512812 ASS (A8 v 28R4 63,
(A) uatmdl (B) Yyl
(C) A2alz (D) GURsdd A
—_—
= [ Contd.
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The circuit showt in Figure is a

078
¥ o *
vi R Vo
(A) Positive clamper (B) Negative clamper
(C) Positive clipper (D) Negative clipper
a AdcaRautz ad 07
i *
Vi R Vo
(A) UBRe s&7R (B) V\Ra sAwuz
(€) WHRa Baw (D) VIRa Bawr
074.  Inwhich part of the VHDL code, generies are declared?
(A) Package declaration (B)) Entity
(C) Architecture (D) Configurations
074.  VHDL 88+t 50l (R B 0 514 97
(A) W Bsdat (B) AU+
(C) 2252 (D) 4512y
075. A package in VHDL consists of _____ ~
(A) Commonly used architectures S')( %
(B) Commonly used tools
(C) Commonly used data types and subroutines
(D) Commonly used syntax and variables
075.  VHDL ui 2udd Usoui g glu 87?
(A) AL Ad quRtdl 2052542
(B) At31-4 ld auudt g6
(C) A=t Ad Ayt 32t 21§ v A3
(D) i Ad aundy Ri-2 521 214 dRAGR
076 The Chief Minister of a state can take which of the following actions against member of Al
India Services?
(A) Removal of the Civil Servant (B) Dismissal of the Civil Servant
(C) Reduction in the rank of Civil Servant (D) Suspension of the Civil Servan!
076.  uowuril Yuar-Al By ayad Al ued [Q3H QA1 A4 sui warai @ 13 87
(A) 418 A48 €2 2. (B) A-EL AdsA 3uiAE wudl.
(C) -8l Aasl wudlui w218l s2dl. (@) tél Qs sy s
[
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077. . Which of the following established the International Criminal Court?
(A)'The Budapest Treaty (B) The Lisbon Treaty
(€) The Bern Statute (D) The Rome Statute

077. Al 114 5 "’iiflg.:cl‘(l,_]'»{ sinadl marad-l - s2417

(A) vsiez 3ily (13) (420t 2[4
(C) ot 51044 (D) %M 51
078. Which of the following frequency bands is used for operation of 4G LTE technology in Ingjy
(A) 300 10 400 M11, (13) 2300 to 2400 M1z
(C) 3300 10 3400 M1, (D) 1300 to 1400 MHz
078, AN 4G LTE 2 geqleiloo-n datei Al 4L guf flsaradl ol-s-l Gualor a7
(A) 300 4l 400 M112 (13) 2300 4l 2400 M1z
(€) 3300 4 3400 M112 (D) 1300 4l 1400 Milz
079, Which of the following special powers have been conferred on the Rajya Sabha by the Constitugiy,

of India?
(A) To change the existing territory of a State and to change the name of a State.

(B) To pass a resolution in order to authorize Parliament to make laws in the State List and 1
create one or more All India Services.

(C) Toamend the election procedure of the President and to determine the pension of the President
after his / her retirement,

(D) To determine the function of the Election Commission and to determine the number of
Election Commissioners.

079, Uz {928 G121 A%UAA 41241 14 56 vid Al 2] 2udl 97
(A) AUt dadutt Uea sedall x4 asusd - seaal.

(B) 2zl | (Ul stiad 24 215 3 ay 21001 erdl Al Goll s2a1 :ixz w454 5241 M2
s qH2 s2al-l,

(€) 2ozl el ulsumi Rl s 20 Mgl wedl 024 Qeam 54 szl
(1) 4zell vty se-u sl 4581 s2eel) 209 2jzull 20yl van 154 saa),
080, Which one of the following is not a feature of Indian federalism?
(A) There is an independent Judiciary in India
(B) Powers have been clearly divided between the center and the states
(€) It is the result of an agreement among the federating Units

(D) All of the above,
080. Al WAL 8y tuadly duae amo o) 7
(A) HRANL QA ~dud= ),
(1) 35 7 05l @2 Artnill sz qdagefl s2a0mi ) 4,
(€) A el A3 A 5212 Yy .
(D) GUA5ed duIy

———
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= of the following statements is / are correct regarding Double membership in the

081- :’Zl:liic;ment?
- lw.s'Iz:iglfrhs(()):sieslle:ilc::i(:‘e‘:t::ostehr::.c houses of parliament, he must intimate within 10 days in
2. If the person defaults of such intimation, his seat in the Lok Sabha becomes vacant.
3. Ifa sitting member of one house is also elected to the other house, his seat in the second house
bhecomes vacant.
(A) 1,2and 3 (B) 2 and 3 only
(C) 1 only (D) 1 and 2 only
081,  duEl st aoaue euetd A AR 53/ sui [@Quin / Qe e /i ?
1. A A8 culbd AuEU ol ASTHL 1S 2uedl €y dl Ad WA sui dpswi 23w Hid & Al el
10 Rz 52l usdl.
5. o el 2l et AL 53 el d-l cllsuenni clss vl usdl.
3. o 25 9] ARAUE HAAAAL A6 62 i urt e dl A oo dpeui clss vl usal,
(A) 1,243 (B) 52213
(C) ¥51 (D) §5e1 1241 2
082.  The Central Administrative Tribunal (CAT) exercises it jurisdiction over
1. All India services
2. Central civil services
3. Officers and servants of the Supreme Court
4. Secretarial staff of the Parliament
5. Civilian employees of defense services
(A) 1,2 and 3 only (B) 2,3,4 and 5 only
(C) 1,2 and 5 only (D) 1,2,3,4and 5
082.  Arzd A[A2Ra Beynd .......... y2 -l 20[A58 41d ©.
1. 2Bie surdly Aqii
2. 5y A€l Al
3. ez Aewdd- wRLHI 2 sl
4. AueAL ARDAUA) 2215
5. ARe Adwil- Ry sfudil
(A) $541,2 23 3 (B) §5112,3, 4 %15
(O#511,2915 (0)1,2,3,4 415
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083. Zonal Councils arc

(A) Constitutional Bodices (B) Exccutive Bodies
(C) Consultative Bodies (D) Advisory Bodies
083 Ia 56 L 8.
(A) eiRefly o124 (B) s12lendl el
(C) v fe2d) (D) 2t 518 Azl
084.  Which of the following is used as an explosive?
(A) Phosphorus trichloride (B) Nitroglycerin
(C) Mercuric oxide (D) Graphite '
084. DA AA 53 [Rsies qdld auad 87
(A) $138 2514 (B) SABaARA
(C) uRiRs 20588 (D) 5182
085.  Which one of the following techniques can be used to establish the paternity of a Child?
(A) Protein Analysis (B) Chromosome Counting
(C) Quantitative analysis of DNA (D) DNA fingerprinting
085. ot Rgea 158 saan w2 DA LA 56 assi-l Gualol 53 asi 8?7
(A) WAl [asdwnl (B) 221343t Al
(C) DNA- Histleis [Qeduny (D) DNA a2l
086. According to the report of WADA (World Anti-Doping Agency), India hasranked _______among
the Dope Violations? .
(A) 3 (B) 4"
(C) 5t (D) 6™
086. WADA (aef 2A-8-8lor Aor2fl) -1 Aduet ANFAUR MR 3 Gedall .......... 50 8.
(A) Al (B) Al
(C) uinxl (D) &L
087.  Recently Indian army has launched ASIGMA, this is a
(A) Assault Riffle (B) Anti-Tank Grenade
©) Individual operated Rocket (D) Indigenous Messaging Application
087.  dipdaMi ciRdld A-u2 ASIGMA | 2013 54, d oo 6.
(A) H2ile2 ABs4 (B) 2-5 [A1d) 3AAg
(C) calbrdtd dalad Ase (D) 2azell AALoL Ae3ai
TOR-C ] 20 [ Contd
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088.

089.

089.

—

owing statements are correct i
oy foll g rect regarding recently launched missile “Pralay”?

Whic

range, surface to surface guided ballistic missile

1. Itisa short

. 's‘ i , ': 5 5 g
_The range of this MIss le is 350 to 500 Kms.

|5

+ The missile can carry the payload of 500 to 1000 KGs.

4, The missil€ is equipped with integrated avionics

(A) 1 2,3 and 4 (B)2,3 and 4 mlly

d 4 only (D) 1 and 4 only

(©) 1+ Jan
L s2al 2udal “van” Budy ouod Q- 4l sal (-l i 8 ?

ARl yalue

1 azflud aaferd Al awdld 2usds ddRes My ©.

5 o Braudadl ylamalet 350 4l 500 (3301 ©.

3. o (2use 500 <l 1000 Sl A U-dllsq ag 58 a3 ©

1. 21 Raudd is(@d AR A5l Ay ©.
(1501,2.3’)*"14 (B) 51 2,33 4

(C) 554 1,314 (D) 55 12 4

Which of the following statements is / are correct regarding to World Bank report on Global

Economic Prospect?

(A) The report estimated that the global growth will decrease slowly, 5.5% in 2021 10 4.1% in

2022 and 3.2% in 2023
(B) India’s growth is projected at 8.3% in 2021, 8.7% in 2022 and 6.8% in 2023
(C) Both (A) and (B)
(D) Neither (A) nor (B)
R gt seilotet § 81305 Ml 52 uatt pidaue oied N s/ sl @t/ @l 203 / i ©7

(A) e 13aud yopo, Aus alPr 2021 i 5.5% 02022 11 4.1% 12023 4 3.2% 3l A 1A
24l

(B) cu-ll alu < vigiey 202134 8.3%, 202241 8.7% 21 2023 1L 6.8% A 8.

6 (A) 21 (B) 6iA
(D) (A) 211 (B) U4l A sy 4]

a1 [ P.T.O.
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090.

090.

091.

091.

092,

092,

» , H 9
Which of the following statements are correct regarding Atal Pension Yojana (APY)?

1. Under the APY, there is guaranteed minimum monthly pension for the subscribers ranging

between Rs. 1000 and Rs. 5000 per month.

sol wi . ot . 100
2. Gol will also co-contribute 50% of the subscriber’s contribution OF Rs. 1000 per annum

whichever is lower

3. APY is applicable to all citizens of India aged between 18-60 years.

(A)1,2and 3 (B) 1 and 2 only

(C) 2 and 3 only (D) 1 and 3 only

Med Urar dlomt (APY) titotd 13- 14 sui [@adl 2w 9 ?

1. APY 360 5100l ezt 202 i 3t 1000 4 3 5000 - Asll a2 s qgdy Ur2tt-fl wiqd)
AL 20 B,

2. cuadll 42412 Wi 510 MR- AL 50% »taar 3L 1000 UR @, i)
S0l 20u4l,

3.APY 18 4l 60 atf-ll qu a2l GURdHL dHH AEELA W2 @) Ul 8.
(A)1,2%43 (B) §5c 1241 2
(C) 5542943 (D) 55 1241 3

Which of the following statements is /are correct regarding Vidya Laxmi Yojana of Government
of Gujarat?

% 2y, 2aq)

(A) This scheme covers those villages in which the literacy rate of Female is less than 55%.

(B) In the scheme, the Narmada Nidhi’s bond of INR 2000 provided to the girls enrolled in the
standard 1st and paid with interest at the completion of standard 8th.

(C) Both (A) and (B).
(D) Neither (A) nor (B).
ajopnd w2l Renasdl dlog-u enend 21 U4 53/ sui Qe / Qe 2 j i 9 7

(A) 21t dlogett 3501 2ett LAl 20199l Arui 21t © 5 FH ALAL WAl £ 55% A il ¢l

(B) 241 Al H1Re1- 141 erd 2dell s-adl A 3L 200011 HeL 6lls e sacmt 2ud 8. 3 a8
yol qul oite s Wl Ysadui wud ©.

Te(a) 1 (B) i

(D) (A) 212 (B) U4 258t 1d]

Which of the following processes is not a part of the water —cycle operating in nature?
(A) Evaporation (B) Transpiration

(©) Photosynthesis (D) Precipitation

DA 14 56 ulEu usldni ad gnag-4 eust 4?

(A) swfleiart (B) L1 1%

©) USLAA AU (D) 4341€

_ .
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093.

093.

094.

094.

09s.

09s.

—

When we breath in air, nitrogen also goes inside along with oxygen. What happens to that

nitrogen?
(A) It moves along with oxygen into the cells.

(B) It comes out with the CO,; during exhalation.

(C) Itis absorbed only by our body cells.

(D) Nitrogen concentration is already high in our body cells, so it is absorbed,

gpatd 21l sarul A ad2 Gl cu? Aol A WSS ua 2{e2 oy B, 2y A2t 9
aud? %

(A) A 2ol 08 sl o ©.

) A AL o81R Stedl auid sloi SLULSASS UG 681 2414 69,

(C) A g5d i Ad-51ul g2t Wl dani 214 8,
(D) wtrugit AANR-SAHL G214l Al uddell o ay Glu B, dell A 2lum ug -,

Which of the following are correct regarding reservation of seats for representation of certain
section of population in Panchayati Raj Institutions?

1. Reservation of seats for Scheduled Castes is as per the proportion of their population in the

state.
2. Reservation of seats for Scheduled Tribe is linked to their population in that Panchayat area.

3. Reservation of seats for Backward Classes is not necessarily linked to their population.

(A)1,2and 3 (B) 1 and 2 only
(C) 1 and 3 only (D) 2 and 3 only
Yaudl 2l qenzimi AlssA aol-dl axdl-a w@QRBca w2 desi 2uemt sued 1A-n W4 sui

(At 2uai 97
1. 2R ARl 12 Asslg wuRaet Auul darll ardl-u e Yo gl o,

2. w4y Al w2 Asslg 2028 d e Ayl duil-l axdl 0l Asdd du 8.

3. uestet 4 w12 As sl 2n2ea dil-l axdl 0l Asidg €lg %33 .

(A)1,2 %43 B) S5 112

(C)55d 124 3 (D) $54 2011 3

A new Panchayat constituted upon the dissolution of a Panchayat before the expiration of its

term shall continue

(A) For next 5 years from the date of its first mecting and no longer.
(B) For the remainder of the period for which the dissolved Panchayat would have continued

had it not been dissolved.
(C) Till it enjoys the pleasure of the Governor.
(D) Till State Legislative Assembly allows it to continue,
Yed uda Yadd Rug quy uedl otacai 204dl dl v ...,
(A) Al e Alos il qifloge 2uousll 5 el 24 Al 4 L
(B) R wAd) ara-) oudl 236l yed 3 A g [Qua ay 4 dd dl A Yed W2 AY W

(C) Azuwa-l 4 €ly @i yHl.
(D) A% [Au-en 41 A1y 8 2 cui YHl.

Al yed M2 A1y W,
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096. What is Virtual Private Network (VPN)?
(A) It is a computer network across a public internet that provides USers access to thejr
organization’s network, while maintaining the security of the information transmitte(,
(B) It is a private computer network of an organization, where the remote USErs can transmi
encrypted information through the server of the organization.
(C) Itis a computer network in which users can access a shared pool of computing resources
through a service provider.
(D) None of the above.
096, <fa wdde A2as (VPN) 2124 g7 -
(A) A M5 $-22d2 w2 25 5122 424 8 F nuRd R e Al auAAsARA dud)
AL d2asd AsAu Ul 53 6.
» d 2iRe vuroll 5122 Azas O i G2 QuAsAl AL AR G121 AAE2S WA agq
sdlad o,
(C) d s 5222 Aeas © Fui quAAsA AR MR g2l 54YRA AuE-AAL adudd yad
sA 53 a3 6.
(D) GuRlsd WS 2Asun ).
097. Which of the following statements is / are correct?
(A) Gujarat is located in the “Himalayan Collision Zone”
(B) Kutch District is located in very High Risk Seismic Zone- IV where as Rajkot and Banaskantha
are located in Seismic Zone- I11.
(C) Both (A) and (B).
(D) Neither (A) nor (B).
097. DA~ W4 84 / sui [/ Q- iy Ruai e ?
(A) ArAd (BHieu AA3HY AL 20dg B,
(B) 59 [yeadl viot o a4y AvH bl QEUAA-TV Hi 2R A% A2 2R oi-isist Gy AT H
2uden 8.
(C) (A) i1 (B) ¢ir
) (A) 27 (B) WAl 2sugt )
098, Which of the following radio systems will be used during the disasters when there is no regular
communication modes?
(A) Pocket Radio (B) Ham Radio
(C) Beget Radio (D) All of the above
098 2yl g3t Ui 416 Rl 2R etz a2 Ll eud Qo 4] 56§ 34w But
sl 2Ud O ?
(A) yide i (B) e 351%&
Y
)
(C) Atz 8l (D) Gusd qwy
TOR-C] 24 [ Contd.
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Pulakeshi I was the most famous ruler of dynasty.

099.
(A) Chalukya (B) Maurya
(C) Satvahana (D) Gupta
090,  yadellnndal A Ayl o, e,
() G (B) 3y
(C) AddeA (D) 3
100.  The stone-inscriptions, copper-plates and coin-inscriptions of Gupta Kings are written
mn
(A) Prakrit (B) Pali
(C) Pure Sanskrit (15) Brahmin
100. 3t AL Rndul, d dvil da Rss dug H quua 9,
(A) Higd (B) Wl
¢C) 9t 2zsd (D) eusll
101. Shyamji Krishna Verma got the support of which of the following revolutionaries in his
revolutionary activities?
1. Vinayak Savarkar 2. Hardayal Dhingra 3. Sardarsingh Rana
(A) 1 and 2 only (B) 1 and 3 only
(C) 2 and 3 only (D)1,2and 3
101, g A ddAl sidlsdl uged aciaami 931 19 su sidlssid s 1l edl?
1. [Qus s 2. ¢eud EPIRL 3. AReR (R
(A) 354 1342 B)s5d 1313
(C)g5d 24 3 D) 1,241 3
102. took up the leadership of Dharasana Satyagrah after the arrest of Gandhiji.
(A) Sardar Patel (B) Abbas Tyabji
(C) Vitthalbhai Patel (D) Mahadevbhai Desai
102, 2l 43uss ste weu- aeuste -l 2uEdl ... A Guidl Q) edl.
(A) HRER Y2y (B) Ae0uA duoizo
(O) [Rzamus y2g (D) Hsleatus 2
103. was selected by Gandhiji as the First Satyagrahi of the Individual Satyagrah.
(A) Sardar Patel (B) Jawaharlal Nehru
(C) Sarojini Najdu (D) Vinoba Bhave
103 2lod oy ayeqoe- uam aed] a2 o 1 uzie su{ ¢di.
(A) MR 2y (B) FULRAA Ag3
(C) AR\ g (D) [B-tiew auq
\ ———
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104.° Gujarat’s pride, Bhavina Patel won a silver medal in at the 2020 summer Pargjy,.
held in Tokyo,
(A) Badminton (B) Table tennis
(C) Chess (D) Archery '
e °~L°{l?ldz1} 2et, euli-n u2d Al vid donda 2020 Gty BRARBUSAHT e RHAU L s epey
el
(A) GlsBiraq (B) 2uie -l
(C) A (D) dl3e1®
105. Geet Sethi is known for which of the following sports?
(A) Billiards (B) Snooker
(C) Boath (A) and (B) (D) Neither (A) nor (B)
105, lld A4 AA-1 A4 56 2ud 2 el B7
~(A) [f&us (B) 152 _
(C) (A) 211 (B) 6i1 (D) (A) 2 (1) T4 #suet dl
106. DA U4 s 206l Asell =l 87 A -u‘@ & é)\\‘\
1. B 2. (30l 3. uRRd 4. s[Ad1 ¢ ) )
(A)$5d1,2%143 (B) 5.2, 3% 4 (~Cy ay
(%5 1,341 4 (D) 1,2, 324 ;gf* Q@gg}
107. A28 su aoe-Al el Wi 67 S SPPNIRC A
(A) 2 (B) Run f{‘ ‘Q”M\u? Q #‘\i
(Cy Renell) (D) Rasid) [
108, DA Ul 2nes12 20, Sl é
gt el ddel 8, i g alell s 2udl 77
(A) 242 S
(C) AOELHR (D) Gust
109, DA Ul 2udsiR 2o,
oy et 390 wiRil; wadl s34l 2o
(A)algut (B) Guwt
(C) 345 (D) Aty
o, aual iR e 52 Rdig’
(A) Tl + 2R (B) RdL + ¢2
(©) B + 42 (D) R + 2ug2
. audl dRES e 5A - Qealurer
(A) Renell + Guaiu B) (el + wiy
(Crfaa + Guat (D) [ + 2wy
N
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g sasar” 3l Al 24 uRie $3U.

(A) 8311 529 (B) Yugat cudl 2]
(©RA4d (D) 241 53
(3. “duiusal” 3Rl A1l 218 uRie $3U.
(A) a2 usdl (B) s dlusdl
[Ty e aild adl (D) oaelld ag
4, DA A sul wve a3 Al el edl?
(2 ®) Ay
(©) [ (D) [Qouadl
115, DA 4 sul e «Gur’ <) el 87
(A) el (B)ule
(C) At (D) U3
e, DA augtl A3 Al AL USR UAE 41,
ged) Al Heny azAdl 1 sadl 33 Gusl dlul’
ool (B) Ay
(C) sHuRYU (D) Guue
117.  AssL Al
e bild)
1. 20l (2uas) a. Gtz darud-ll (uzsll) el
2. 2wt (A b. #e 9psua-ll (3Rdd) viell

c. e el () eildl

Al eiledl
(B)1-b,2-2,3-¢,4-d

3. 0ldl (wlsdl)
4. 2uy (oual)

(A)1-2,2-b,3-¢c,4-d
(Cy1-¢,2-d,3-b,4-a (D)1-d,2-¢,3-b,4-a
18. DA Ul e 2l

el Hidell ey uRH U 4 .’

(A) Helsidl g})ﬁl"lﬁk’ﬂ
(C) adicldas (D) AU
119, yrudl AlReuni Man qaqsa 5201 dal” QUAR e g,
(A) 1Me (B) HdudAH JuAH
(C) s (D) "AERAH
120. ol AUS UL A2 st Rl oirtale H coeeeess A RR ou 9.
(A) a4 (B) £4UARIH
(C) w9136 (D) [Aug u2ue
TOR . — [PTO.
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121, ssiert 3l e il AR ......... AL ¢ 2l edl.

(A) st (B) 4
(C) EdudR13 (D) u[SudRMH
122 AR B dadsa wzadl 24 ... oot Hetad 8-
(A) 6 (B) 4
(C) #aL (D) AR
123, AssLAd:
1. 3iReisR A ESREIEE
2. 2dRAId Yl . YE/H
3. Bigartert quir a1t
4. Meuens 21 ==, YHE
(A)1-a,2-b,3-¢,4-d B)1-a,2-b,3-d,4-¢
(C)1-d,2-¢,3-2,4-b (D)1-d,2-¢,3-b4-a
124, ‘2l8 AL - OMG Al ... dyortell Aites Guzell eriadiHi 20 ¢d.
(A) 102 2 2162 (B) 11 (A3t 5112
(C) ouA 1l i~ (D) -t €ld
125, A WM Ad e Uil oty siu 9.
(A) 12 (B)14
(C) 16 (D) 18
126. el AUSAHT 184 steunsRA WAldd s ... Al Herardl sl O,
(A) Ui ol (B) :e23n
(C) tndd 81512 (D) ANy Wiss
127. “HRLEAAL AL A, ean g dl 2y.” - ulBazil 872
(A) HRieusd AB) 5612
(C) 2[R il (D) euls
128, @l a3Ad .......... A sd.
(A) »Are Hawll B) . [ wes
@) UG 652 (D) %45 8153

129, “[Aas sl AU Q8L A UM s i,
lea 531 &3 gl A9, dla + ydladl ¢RA 201" - Sl wuayg Ul 7

(A) UM ¢E (B) M-
(©) 50 D)2
130, “weRuS-L A qaasa ., L stl A A YD 2o il s @
(A) [@-len cud (B) 2Rsi52 ez
i il (D) ARER Y3y
— B ——
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It that, by 2050, world population twice as much as it is now,

131.
(A) appears / will have risen (B) has appcared / will be rising
(C) would appear / has risen ") will appear / would rise ;
132. The practice of working woman so widespread that the working mother now é
not an unusual factor in the world. —_
[A) Becomes / was (B) became / is
(C) had become/is (D) has become / is
133. I was very grateful that he my computer so promptly.
(A) repairs (B) Will be repairing
(C) will repair ~d) repaired
134. That you are (drink) while driving, aggravates your offence.
(A) drink (B) drank
(C) drunk (D) been drink
135. We should all desire world where only peace prevails.
(A) fora (B) in this
(C) with in (D) coming to
136. The instructor told the young climbers to hold on to the rope with hands.
(A) both (B) every
(C) all (D) each
137. The noise of the gunshot rang through the trees and the birds flew off in directions.
(A) all (B) each
(g) every (D) whole
138. Miss Lin speaks Chinese
(A) a (B) an
(C) the ~D) No article required
139. Please give me cake that is on the counter.
(A) a (B) an
(C) the (D) no article needed
140.  This year, we’ve been having good harvests all the country.
(A) at (B) around
(C) with (D) during
141. I went my previous notes before starting to write out the rough draft.
(A) before (B) over
(C) into (D) past
142.  For more information the seminars, please contact the Faculty Secretary.
(A) above (B) against
(C) next to (D) about
TOR-C| 29 /"/[’P'TF
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A
wd
€)

At

hey prcferrcd to stay at small f“mily
they

148 They could easily afford to stay at the best hotels, __—
run guest houses.
(A) as (13) yel
(C) for (D) thereo"® o ywill send YOUORC g,
144, we arc unable to send you a brochure at the moment, but W€
stock arrives,
(A) before (B) until
(C) as soon as (D) while )
145.  Our task had been completed before evening. (change the voice)
(A) We completed our task before evening.
(B) We have completed our task before evening.
(C) We complete our task before evening.
(D) We had completed our task before evening.
146. The boys were playing cricket. (Change the voice)
(A) Cricket had been played by the boys.
(B) Cricket has been played by the boys.
(C) Cricket was played by the boys.
(D) Cricket was being played by the boys.
147.  Hesaid, “I cannot help you at present because I am myselfin difficulty.” (Change the narration)
(A) He said that I cannot help you at present because myself in difficulty.
(B) He said that he could not help me at present because he was himself in difficulty.
(C) He told that he could not help you at present because he was himself in difficulty.
(D) He asked that he could not help you at present because he-was himself in difficulty.
148. His brother wa(slz)l brave soldier. (Select the correct word with the opposite meaning for the
underlined word.
(A) noble (B) clever
(C) coward (D) courageous
149. ‘Svl:)er(;?)SlC"der in figure. (Select the correct word with the same meaning for the underlined
(A) slim (B) shout
(L) strong (D) well-built
150.  One word substitution : One who knows two languages,
(A) Bi‘tgot (B) Bigamy
(C) Bilingual (D) Brittle
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